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Instructions:

1. DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU
ARE TOLD TO DO SO.

2. Write your name and registration number on the cover of this
question booklet.

3. Please use a pencil and write your answers neatly ONLY on the
answer sheet provided. DO NOT write or draw in the circle next
to each answer box. No mark will be given if you failed to follow
this instruction.

4. If the information printed on your answer sheet is not correct,
please inform the invigilator immediately.

5. Rough-work sheets provided will be collected at the end of the
contest but they will not be marked.

6. Diagrams in this question booklet are not necessarily drawn to
scale.

BRBE: 1/\BF
AR ERFTE#.

A
1. REMBEE, N7FFELLEES.
2 FELBEEHENEEMER LIRAIER KRBT HRR -

B.FTAERWASEEERN, LHERAMEES. BVERTHER
BiREAHERE, TRZEERSEERE.

4. FoHEER LI HOEHNEREMER. MBAME, F8F.

5. BTEREEEENER EMNERK, EERRKLMETHNME
(A 32 F 5L [Bl R 15 N IE R

6. It 8 i O Bt [ N — RE MR EL ) A& A
© 2018 MathConcept Education




MathConceptition 2018

1) 33+77 =7 [1%]
2) 753-421=7? [1%]
3) 100-76 =7 [1%]
4) 5x9=7 [1%]
5) 48 +8=7? [1%]
6) 88 x8=7? [1%]
7) 91 +7=7? [1%]
8 33+4x75=7? [1%]
99 55+39+39+39+39+39=7 [1%]
10) 3 X5+5X7+7X9+9%x11=7? [1%]
11) 24 +31-59+ 36 =7 [1%]
12) 74 x (53-47) =? [1%]
13) 8 X (45 + 54) =7 [1%]
14) 87 + 3 =7 [1%]
15) 1024 -8 =7 [1%]
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16) A lunch box costs $47. If John buys 7 lunch [2.0%)]
boxes, how much does he have to pay?

—(EtREEE 47 T. HNPEET 7 AHRE, HE
E 3 REZDS

17) John has 23 stamps. Mary has 9 stamps. How [2.1%)]
many stamps does John have to give Mary so
that they will have the same number of
stamps?

/NRE 23 AHEE, INEH 9 EAFE. B/NRE
MINEZMERE, AT UEMMIEERNERHE
B HEE ?

18) A bag of potato chips costs $19. A box of [2.2%]
chocolates costs $36. How much do 6 bags of
potato chips and 8 boxes of chocolates cost?

_@%H% 19%} —]%?ﬂiﬁj']% 367_'.5’ Fl:ﬁ 6@
ERM8ERBAEESDIL?
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19) Find the missing number. [2.3%)]

R ERIEF .

4 kg 709 = ? g

20) Mary has 51 candies. She wants to distribute [2.4%)]
all the candies to 7 children evenly. At least
how many more candies does she need to
buy?

INERRII—EIER LSS 7 M/NAR. 20
INEBEAEA 51 AFER . IR AN A fER AR
=l BRVbEZEERZ DAL
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21) Inalibrary, 2479 books were borrowed yesterday. [2.5%]
3168 more books were borrowed today than
yesterday. How many books were borrowed in
these two days?

BEZEERER TEE 2479 &, 4XIEKEXS
EHT 3168 K. HEISEEEMRIL(EL TE
=20y i

22) Ada has 7 dollars less than Billy. Billy has 16 [2.6%]
dollars more than Charles. If Charles has 19
dollars, how much do they have altogether?

HikzV»75w, ZIEAZ 16T. MMRAEF 19T,
=AEFEZ DT
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23) Write the fraction that represents the shaded [2.7%]
part.

FERBTIEEENETZE?

‘-I-l-l-l-l-..
*
..-I-I-I-I-I_’

24) What is % of 84? [2.8%)]

=)
6

84 HY
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25) A triangle has two equal angles. It is a/an [2.9%)]
triangle.

—B=Z=/RAEEmMERRNRAE. ERZ —E
=k,

26) How much water in millilitres is in the container? [3.0%]

UTEFHFKEZDZEFH?
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27) Arrange the following fractions from the [3.1%)]
largest to the smallest.

BT 7 EEKZEMNHEET.

7 10 7 8
911119

28) John slept for 8 hours 23 minutes last night. [3.2%)]
He woke up at 6:11 am today. When did he go
to bed? (Answer in 24-hour time)

INBARERSBE T S/NBE 23 iE, WEE=-XKBE L
6 BF 11 ek, Rt EE IR ZBIIRIES?
( WL 24 INBSSRAFHIER )
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29) How many pair(s) of perpendicular lines are [3.3%)]
there in the figure below?

TEIEZVEHERER?

30) If the sum of all digits of a 5-digit even [3.4%]
number is 23, what is the smallest possible
value of the number?

—ERMNEHSEHNFEZZNZE 23, EEHR

IhgZ 7
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31) Find the value of 137 X 2018 + 863 X 2018. [4.0%]

5K 137 x 2018 + 863 x 2018 HIf& .

32) Find the value of A + B + Cin the pattern. [4.1%]

RIFEI=4EE, XA+ B+ CHIE.

13, 26, 18, 15, 23, 25, 17, 20, 32, A, B, C

33) 2 pencils and 3 rulers cost $35 in total. 3 pencils  [4.2%)]
and 2 rulers cost $30 in total. How much do
1 pencil and 1 ruler cost in total?

M REM=IBRIRLE 35T, =X HEAM
EEIRZE{E 30T, M—ZEAEM—IEBRL{E
257
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34) Cutting a metal stick into 4 pieces needs 24 [4.3%]
minutes. How many minutes does it take to
cut the metal stick into 10 pieces?

i — IR BSR4 MFEE 24 DiE. H—IFEES
R 10 MBJFES D DiE?

35) There are 12 children in a room. If each child [4.4%)]
shakes hands with each of the other children
once, how many handshakes will occur?

—MRBEINE 12 fL/NRA . SA/NRAEREE
INRARIET—XRF. BEFHNHEEHIRT Z D

IR ?

36) It is given that 18t February 2018 is Sunday. [4.5%)]
Which day of the week is 15t April 2019?

E412018E2 B 1S H=REHH, B 2019 &£
4 B1 HREHA%?

P10
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37) A new integer is formed by adding two zeros [4.6%]
to the right of the original integer. If the new
integer i1s larger than the original integer by
4356, what is the original integer?

E—EZBERERET EME 0, #MK T —(@EH
B, EEELLERES 4356 » BRFRPNEBE

=k ZI0N

38) If each letter represents a different digit, then [4.7%]
what 4-digit number does “ABCD"” represent?

ETRd, SRXFERT—EFRDHINF.
[ [ ABCD | X R MR—1E Pd £y ?

o |N W >
N DO N >

P11
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39) Thereis a group of students. Each of them has [4.8%)]
to join at least one of the football class, piano
class, French class and art class. The maximum
number of students for each class is 9. If every
two students would meet each other in at
least one class, at most how many students
are there in the group?

RIKHE. MBI, FEMENIPHERES
"I ERE. —MELBAHSNTED—E
iz, MREESMUBELEVHET —E
HRIRRE, MERBESSESDLA?

40) Find the value of the 2018™ number in the [4.9%)]
pattern.

RIBLTRE, HE 2018 EERVE-

1, 5, 10, 16, 23, 31, ......

End of paper
£H57T

P12
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